Muda of Correction/ Rework

. Q\.e_sa . .
* Definition: I%Qjm)&sam’,l Repairing or reworking

» Result: Higher costs of materials, equipment,
floor space & labor.
May hide the true defect rate.
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Muda of Transportation
orese™
. Definition;, 0™ "e of 17
e 15
‘?‘W’oving’@&% or product. Conveyance Is in
Incidental required action.

 Result:

Increased labor costs. Adds risk of defects
due to wrong moves, dropped product, etc.
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|dentification of Waste (MUDA)

eSe
« Seven type ‘Qj(\ﬂrﬁge& 11
_ ' 6?“%3’@9 \
— 'Muda of Overproduction
— Muda of Rework
— Muda of Motion
— Muda of Processing

— Muda of Inventory
— Muda of Transportation

To eliminate waste it must first be identified
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Calculating Variance —
an examplp
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Calculating Variance —

4
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GE — General Electric

\,~! Year on year General Electric Co grew net mco€@@& 3.6410bn to 14.05500n despite relatively fiat
revenue growth. View full income statemen?

P age Gross margin 23.12%

150bn Net profit margin 10.60%
100bn Operating margin 17.99%
50bn
2009 2010 2011 2012 2013

FISCAL YEAR ENDING DECEMBER 31

NET INCOME

15.0bn
12.5bn
10.0bn
7.5bn Return on investment 2.56%
5.0bn
2.5bn

Return on assets 2.31%

Return on equity 11.93%

2008 2009 2010 2011 2012 2013
FISCAL YEAR ENDING DECEMBER 31
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Scoping is executed where the %@fﬁ%{%ﬁiness Problem is too broad

. oM £
Scoping Tools\,_\ oW X - A\ O
Qualitativ?l‘fo%ls - Pag

Affinity Diagram
Tree Diagram
Fish bone Diagram (Cause & Effect Diagram)

Quantitative Tools -

Pareto Chart

o
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Tree Diagram

Tree Diagram &S
Identifying root causes by skam&}&’sti%n%y", until the problem is converted
in to actionable poin\ré\N \ A_ @)
preV™ pagg
[ Problem ]
Why? |
Yy Y
[ Reason ] [ Reason ]
Why? |
Yy Y
[ Reason ] [ Reason ]
[ Reason ]
!
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Draw 3 margins
each consisting of 3
different colours

Paste sticker on first
page aligned with
the first staple

NO Gather the 4
. Folding paper into | trgight C &Sth line: quarters together Remove band from
» | ) | |
B R | four equal quarters nds @ the folds 6 wn and bundle them = the bundle
el 6 with the band
4
A J .
Staple the bundle
Inspect margins Pass Bundle the quarters | Remove band from along the margins in Buunaﬂtz:::v?:: F:Leed Remove band from
for defects with the band ” the bundle "] two equally spaced q band the bundle
points
Fail
Rework
nspect the end
product for Pass—)» Dispatch Product

defects

Fail

v

Rework
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e e
P Input? 29 Outputs
- : Targeted . Customer
upplier p . | process sections
Process sections | T rocess section V
A
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Potential %f Sa ‘ © C D
Process ° gntla Potenti N@ % tential |(occurrence urrent (detection
: Failure ‘3\ 'l ) Process :
Function Mode ’(roan@‘ Chuse(s) rating) Controls rating)
_ ﬁ#a%_@g" How Describe | How often | Whatare | How well
The highest| \yays e effect | Severeis | interms doesthe | the can you
value might the | of each the effect | of cause or | existing detect
Process | process failure to the something | failure controls cause or
steps from | notentially | mode on | customer | that can mode and Failure
the C&E | fajl to the ? be occur? procedure | Mode?
matriX. | meetthe | outputs corrected s ,that
process and/or 0- or either
requireme | customer | Lowest controlled. prevent 10 - Lowest
nts and/or | requireme | 10 - i.e., root failure 0 - Highest
design nts? Highest causes. mode
intent? from
occurring
or detect
the failure
should it
occur?
Q
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